O (12)
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1
ol =1451.21 o2 =.17.86 g% =. 17.86 0% = 266.67
oY = 188.40 o =79 01 0@ =79 01 0@ =511 60
04 = 500.00 01, = 336.60 0y = 336.60 0% = 361.60
O@wy = 188. 40 O = 79.91 0@y = 79.91 0 () = 511.60
01 = 442.26 0% = 115.47 03 = 207.73 0% =257.34
ol = 188.40 of =79.91 off) = 79.91 0 =511.60
o} =442.26 0% = 115.47 0} =207.73 0% =257.34
o) = 188.40 o) =79.91 off) =79.01 o =511.60
s Oy = 188.4 kPa,o (22 = 511. 60 kPa
, 0(12) = 79 91 kPa y
, y 0(11) ,0' (22) 1 . . . , 1978
O (21 2 ) ) : , 1987
3 . ) : , 1980

o, = 500kPa,0, = 200 kPa,0,, = 100 kPa

( 1996 10 27 )

, 832003)
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(1. 400mm , 500mm , 600mm
, ( 2(a),(b).
P
B = (
).
I el 3 o
1
(
: )
O = 3pL/2bh? ( 3@@),
o
, ()
, ()
( 3(h). ()
D.(= E[ b y| B8 zent +
z\— 1 12 ) 2 1
3 2
7 E2|: %22 éﬂ;_tZ bt,
h
i
Tr=T-1r-
h - - - - -
T
(@ (=)
p —_— 1
-__|.___.___.____.___| 1
T
v H o1 -
1
e m_|[:
¥ !— h }T
(b) (b)
3
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, B = EkE-=E, 11 .
= thb=t, Up =+ v dx? (5)
H=t+2 —;-tc+t D. '
#vidx® = M/ D, (6)
. _ 1 2
_ZEI:-bIE _)J:lz o - .DZ—ZEth.
2 = 12 2 -
2 .
';‘ FJJtHZ[l + _33_[_:; D,v :I[IMHX dx + cx + D
, H,
t , 13 (t/ H)? , v =- —px-48D (3L2-4%x%) (0 =x =VU2 (0
z
()
D, = -;- Ebt H? (D)
f =- pL% 48D, (8)
6
I, = -]2‘ bt H? |
I , o
( H ) :
G o M-H2 M ,
I bt H
M = _i. P 6.1 E
, b =40mm, t = 3.
’ 5mm, ,
=
= A =
o * 2btH @) , (AP
200N) , ,
4 E=386GPa 4.46 GPa.
: 6.2
: : (2),
, b = 100 mm t = 3.5mm
(1) h = 35mm, L 300mm , 400mm ,
Q:(2 500mm ,600mm.
: ) @) 4.
T = Qs,/ I,b 3
Qs;/ I, (€©) oO\Pa)
L = 1 bt 12 LA btH L=400mm L=500mm £=600mm
T2 ’ Sz = 5 ! L=300mm .
4 . ' .
) 5 ) .
T = Q/ bH (4) / .
0 200400 0 200400 O 200400 0 200400 P(N)

4
—O0 = PL/4bth ,- - -



6.3 7
(8) , 5. b = 100 mm, t
= 3.5mm, h = 35 mm, L, = 400

mm, L, = 500 mm, L3 = 600 mm, L, = 700 mm.

V()

kY } L

1 . . : , 1993.9

2 , :

- ) C
100 200 300 PN Y984, 2
3 . . : ,1979.9
5
( 1997 9 10 )
—f = PL¥48D, ,- - -
( , 212013)
, h , (x,r0)
, u, v, w

[1]
Cy, l-uly 1sb Fyv,
ox*  2R* ®® 2R Ox®
uow 12y
R 0x ¢ ot?
' 1:u 2Pu J_LJ_&+_J_ 2y, 2w
2R 0x® T 2 ¥ 27D

1 2y
: ¢ ot

=0

=0

’ ' % R2[%+W +eRPVEViw +
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